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Question Type-01: Eﬁ'ﬁﬁ. B[R sfsiRol

> S ARt x = o

q&F: ohm™?

cm ™! St Sm1

> g AR A =
GFF : 0 1cm? (g — eqiv) 2
> R SRR Ay =
QFF : 0~ 1cm? mol™?
AT, L = ofbead 720a T4l iy
A = SfULRITaT AFRWE CFade]

R = G f{reey qqteiq @iy

¢ = Ses [Ty Gaee Il

e =BG [_UITEIR & A

0l. 25°C Il @ G AYer GFb 4T TR 11eT afiTes wep #ifqaifZet 388.5 ohm=1 cm? equiv=? |

RCre= @t 6% =T 0.1 M B3tes Sieeifes «ifaifzet @@ <91
A GT, H=W°Iﬁ$°lﬁﬂ1ﬁﬁ,c=mﬁw= OIM,Ezwwmz

= = 0.03885 ohm~1cm™1

FW 1ﬂﬂ|’.‘l Ace 388.5x0.1x1
_El]- A=xx=—= lﬂﬂﬂ 1000
ﬁh‘iwﬁ‘mmwaﬂﬁw mﬁﬁrﬂﬂﬁﬁﬁm
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Question Type-02: ©fGe fqoage &g

o fafomofr Rurw wmmds ofte Rrgan ate Sesim:

[KUET'19-20]
1 [+ 9F F9917 @ffe]

NaCl(sifere) Na Na* + e~ - Na

PbCl, (sifFTo) Pb Pb2* 4 2e~ - Pb
NaCl (aq) H, 2H* +2e~ > H,
Kl(aq) H, 2H* + 2e~ =H,
MgBr,(aq) H, 2H' + 2e~ =H,
H,504(aq) H, 2H" +2e” =H,
KNO3(aq) H, 2H* + 2e~ - H,
NaOH(aq) Hz 2H* + 2~ - H,
CuS04(aq) Cu?* 4 2e~ - Cu
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& & W wRe am @& fFwm & & W= @ AiE

Li K Ba Ca Na Mg Al Mn Zn Fe Cd Co Ni Sn Pb
I TR A& Wy B
H Cu Hg Ag Pt Au

HAidrarel Fifsrs @ A TG TS T4, (1R 4igd Stferaet v @f)
Aierret s Soitem 4IQ: SIS, o 4ig: witie

MCQ
01. SRA HRIT ©fSS fR{reraet ar =0t firp= (IR Ty 312 [KUET'15-16, 18-19]
(1) Cl 715 (ii) H, 91757 (iii) O, 77 (iv) NaOH(aq)
() 1, ii (b) i, iii (©) i, iv (d) ii, iv (e) i, ii, iv
STAII: (e); JIRCF Y [RTaret Fater TS H,, e Cl, 932 Tt NaOH B 5371
02. fores TETRTHd TN RG0S5 e steart T [BUTEX'16-17]
(a) Al(s) (b) Cu(s) (c) Fe(s) (d) Sn(s)

FAI: (a); TP G Al &R &7 1 @17 ZnS0, w2t Al @1 T © Zn & AfSHIoT TS AT |
03, a9 LTI iy e i Soifafore enfba @mizs 9z iy w1 T4 fic Sve

fasEet <4t 2 e 3 — [Ans: ¢] [KUET’15-16]
(a) Na @9 Br, (b) Na @3g 0, (c) Hy, Br, @93 NaOH (d)Naw@3g H, (e)H; @33R0,
04. I G *Ite TRTHfAT *fere Foefo om, o 2@ =3 [Ans: a] [BUET’13-14]
(2) OfGR AT @F  (b) ESIE @rg (c) G 1T (d) TG oty
05. BIFRIN MAGE 93 T T3 Sfbe Resaet w9 fnm @ ST/ PTTR BRI J(2
(a) H;/NO, (b) 0,/NO, (c) NO, (d) Hy/0,
FHEE: (d); OH™ > NO3 @3t K+ > HY [BUET’13-14]

» OH"URR H* @9 SIS & Ra¥14 eiFerel @ | ©F H, @18 0, M1 Beom =31
[40H™ = 2H,0 + 0, + 4e~;2H* + 2e~ = H,]

06, T IRER S QRTF THE & G 4157 09 ezt 792 [BUTEX’13-14]
(a) Zn (b) Hg (c) Pb (d) Mn
AAIYI: (a); CTIRIF ©AF Zn «OF STETANCE SO 6 I |
07. N6 @i o1 fHeieEme? [Ans: d] [KUET’11-12]
(a)Al > C > Cr > Co > Mn (b)Cd > Co > Sn> Hg > Pb
(c)Mn >7Zn >Fe>Cd > Cr (d) Cu > Hg > Ag > Pt > Au

(e)Li > Na> Al>Ca> Mg

08. W3 RIR BEa= fEres My 2itert fate T 1 W FT™IfFs 59 aetetea Sea wia| [BUET'16-17]
(2) CFI 4Ig AT RO IR FACS JA?
(b) (I 4 SHICAIC R IR FACS J(A?
(c) (I CETPENC (T AT G Ze1aG 271fRS FA?
(d) STATG-9q FEoS IterTmie [ e
(e) TIRNT-9 Feafow 2rerears [ g
A (a) &1 (b) R (c) SHITAIG ©Yf f&ied FEAFEIG
(d) Zn - Zn?* + 2e~ (e) Zn** + 2e~ - Zn

J = /.
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09. aﬁﬁqwmﬁﬁmqﬁﬁﬁ%wﬁmm@@amﬂﬂmmrﬂmﬁ—ﬁmmﬂa%@aﬁm;
(i) (P YIgo FITAS fZANT 9217 T4 7 [BUET’11-12]
LR CICHGIERDE

(m)@ﬁmmaﬁam%ﬁmﬁwﬂﬁ—w
A SIATE (e 7a) R
(iv) SUIICea @S [l &
AAYA: Ni — 2e~ = Ni?t
(V) TRATE ETRENG [ e
AAYH: Ni** + 2e~ = Ni
10. IreTaiesftr F? Breran e v e [BUTEX’04-05]
TAA: JeTeaifes ©fes Russeem Mo i wfeen s tof R ereicas Sog oy qait 3% 9 gieg
AT e T @b I
TIRA2 AR (@R ol & it ey ¢ o qeem o e S&E5t 31 T 9F F381e =)
=1 1 IR #2011 TSI ST ST 71, 0 NRble 4 A, $I W 2 27 T
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W = Sfgears A 91 uge =mitdd o7, | = ofde e[tz t = eRize feraiet,

Z =E@ﬁmﬂﬁ$w=:ﬂ—}ﬂ e = YMF-ANFO e~ Wﬂﬂmliﬁf'@%mmz G qFF: gC™!
Q = neF, It = neF

S

n' = Slv-—% - OfGe fAraratels ST ©g maeda gt S, =2

ST, SR 95 fbe ResateR «iq wate gviat, S, = V-

Vv
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01.

02.

03.

04.

05.

06.

07.

08.

.D— /o= /4

MCQ
#1fFT® CaCl, It Sfee Rvarmet s1afers 20 g e €1y Frepie v 3o e oA Za?

[CKRUET'21-22]

(a) 94600 (b) 96500 (c) 48250 (d) 19300 (e) 95600

A (b); W =2 = Q = H2F = 202096500 _ g5

13.5 gm AIP* SIATF 199 Al @ #if¥fe Fare Foft 3G waald 217 [CKRUET"20-21]
(8)9.03x 102  (b)3.01 x 1023 (c) 9.03 x 102 (d)3.01x 10**  (e) 6.01 x 10?

ATHI: (a); AlI°T 4 3~ — Al
27 g AT (TS e~ Ma91F 3 X 6.023 x 1023
+ 13.5 g AP* (TS e~ Wil = (3 x 6.023 x 1023 x-1§) = 9,03 x 1023

50 R 479 0.20 S Rge e=ifze 2wy 0.20 S 947 o =3 | SIS AT QT GO 997?

(2) 3.23 x 1077 kg C™? (b) 2.33 X 107 kg G2 . [CKRUET?20-21]
(c) 3.33 x 10~7 kg C~1 (d) 431 x 10~7 kg C?

(€)3.00 X 1077 kgC1

AT () W =ZIt = Z = = = 22Xk _ 333, 407501

It 0.2AX50X60 s
Atomic mass of Na and Ca are 23 and 40, respectively. Equal amount of electricity is passed through NaCl and

CaCl; solution. What amount of Ca will be deposited if 2.3 gm of Na 1s deposited on cathode? [IUT'18-19]
(a) 4 gm (b) 3 gm (c) 2 gm (d)1gm
FAYI: (¢); According to Faraday’s Second Law: W « E [Q constant]

#%=wﬂaﬁwﬂa=mﬂa eNa [E— ]

Eca Ena WNa €ca My,
=>Wea=2¢g
80 cc 0.1 M Fe,(S0,); B3t 1.0 amp FI=T RS TR T=IHA FeSO, « [unifae Fare o G 5y
ANR? [KUET'16-17]
(a) 772 (b) 7720 (c) 1233 (d) 1544 (e) 15440
STA: (d); nFedt = —-x 0.1 X 2 = 0.016 mol, Fe* + e~ — Fe?*
It = hEF, b n:-.F — u.l:l:l&mix?ﬁsnu — 1544 S
&Y HCl B34l 2 F e 2912 S0 STP (S FIICATS T-AF H, TS WS 6 7 [BUTEX'16-17]
(a) 22.4 L (b) 24.78 L () 25 L (d) 28 L

TAYI: (a); 1 mole H, G &7 2 F =TT | &K STP (© 1 mole H, =224 L

GFB SAE SIS (584 fATT 15 min 477 0.1 mA R 511 w5 Foft 2 2 1fs 21? [CUET?15-16]
(a) 4.84 x 1017 (b) 8.60 x 1078 (c) 2.31 x 1019 (d) 5.62 x 1017
FHEE: (d); Q =1t = (0.1 X103 X 15 x 60) C

15 e~ QAT BT = 1.6 x 10719 C - e e = XL XXy 565 ¢ 1017
ST ST € SR e e 1.0 x 105 A Rye =15 951 q14e blet 907 o Rt
ST Seog 2a? [CUET?15-16]
(a) 268.6 kg (b) 307.6 kg (c) 9.95 kg (d) 805.8 kg
STHIEA: (a); AR + 3¢~ — Al 5 Q =1t = (10° X 8 X 3600) C = 1”5:;5’;1’5“" F = 29844.56 F

29344 56 mol = (29344 56 5 27) om = 268.6 kg
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09. e AITCG VLA THT 3.25 amp RIS FOF Bietel ST 4.405 gm &< AfS FI? [KUET’14-15)
[At. Wt. of Zn = 65.40]

(a) 33.33 min (b) 66.66 min (c) 1999.91 min (d) 99.99 min (e) 62.65 min
STAY: (b); Q = neF = 325 X t = 2= X 2 X 96500 = t = 66.66 min '

10.  Ni(NO;), &awt 5 SHifaa ﬂmﬁﬁm 30 5 TIqe DA T4 EE | FINATE F AR F0weT T 203
[Ni = 58.7) [RUET’14-15)
(a) 2.700 g (b)2.730 g (c)2.737g (d)28¢g (e) None

Mit _ 5B.7X5X30X60 _
T (o) W=—= = =2 = 2.737 g

11. ﬁﬂ—mm?@%m 1.2 A 29It 20 RS 403 viE a0 IS 106.66 gm T S T | FAF Sty

TINS SIS F97 [RUET’14-15]
(a) 74.069 x 10° kg/C (b) 74.069 x 10° kg/C
(c) 74.069 x 101 kg/C (d) 74.069 x 10?3 kg/C (e) None
crn 7 W 106.66X103 kg = '
AR (€); Z = = —————— = 74.069 X 10~ kg/C
12.  63.5 gm Cu FIICITT e o & o7 e, vref Tfire z=? [CUET’14-15]
(a) 96.500 C b)1F (c)2F (d)3F
YA (c); C uz++2ez - Cu(s) ..&TAEY BI% 2 F
63.5g
13.  Ag 93 Of% IFRE G 0F 93 qF $92

[BUTEX’14-15]
(a) 0.0000104 (b) 0.000329 (c) 0.000287 (d) 0.001118
AMYL: (d); Ag* + e~ — Ag;W=7ZIt=2Q
=108 x107° =Zx 96500= Z = 0.000001118 kgC~! = 0.001118 gC 2,
14.  AlICl; B3 © RS BIeAt T OF (e Al A0S 232
(2) 0.33 F (b) 1 F (©)3F (d)6 F
T (); AP* + 3e™ = Al; 1 mol Al &1 39T 3 F Ay siied )

[BUTEX’14-15]

15. Ifacurrent of 5A is passed through a CuSO, solution for 15 minutes, the amount of copper will be deposited on
the cathode will be— [Cu = 63.5] [TUT'14-15]
(a) 1.48g Cu (b) 2.48g Cu (c) 0.148g Cu (d) 1.28g Cu |
ety e M. T35
Solution: (a); W = Zit = it = 2%SE800 5X 15X 60 =1.48gCu
16. 9USd T 7.50 SifEE [ge Suﬁﬁﬁwﬁﬁ?ﬂi—ww@ﬁm%ﬂﬁmﬁﬁmwm? (FACEE
Afaari<E o9 = 63.5) [KUET’13-14, RUET’13-14]
(2) 3.70 gm (b) 14.80 gm (c) 7.40 gm (d) 0.246 gm (e) 0.123 gm
A (c); Q = It = (7.5 x 50 x 60) C; ST, W = ZIt = 7.40 gm
17. GRS e B30 0.0422 A /e 1 hr A4S ]S 1 T TS 0.0275 g GFIfszIT Afdes =1
G IS ST B1e 07 [BUTEX’13-14]
(a) +2 (b) +3 (c) +4 (d) +5
A (b); W=7 = e =N~ 3
18, S5.0MZf® Fﬁ‘aﬁr:ﬂtﬂwmﬁm 10 minutes 4T 500 mA FIT BT 91 =T | TIB SR A=W ST 0Ca?
(a) 0.0987 (b) 0.000329 (c) 0.987 (d) 9.8 x 1023 (e) 1.87 x 1022
AAIYA: (No correct answer); Z = 53: "W = Eﬁ X 0.5 X 600 = 0.0987 g [KUET?11-12]

0.0987 g Cu @ Cu *RIY SITE 6.023 X 1023 x ““”ﬂ"'fﬁ 9.36 X 1020

E [ - T
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19.  AuCly &% 34 TTH 2.50 ampere Rigre 30 R 4 eif® ey wizaiis <5 ~RH gold T 27

(2)9.18¢ (a) 0.02g (c)0.15g (d)3.06 g (e)153g

c(dy7=M _197 ... 197 ’
FAI: (d); Z 3F - 3F " W = Sroesc X 25X 30X 60 =3.06 ¢ [KUET’11-12]

20. If0.5A current is passed through silver nitrate solution for 3 mins and 20 s, 0.1183 g of silver is deposited.

What is the chemical equivalent of silver? [IUT'11-12]
(8) 2183 X 107" kg-C™* (b) 0.183 X 107 kg-C™* (c) 1.56 x 10-6 kg-C~* (d) 1.183 x 107¢ kg-C ™
Solution: (d); W = =¥ _ _o1183x107 _ - -
(d) Zit=Z It 0.5x(3x60+20) 1.183 x 107 kgC™

21.  How much current is required to release 10gm of iodine from a KI solution in 1 hour? [IUT'11-12]
(2)3 A (b) 4.22 A (c)2.11 A d) 122 A
Solution: (c); 10 = z:;zzu X60x60xXI=1=211A

22. T FRWGD 99 SN HCHR W04 0.2 A RS 30 min ST 407 ST Fa0a 9~ Frerery o 24?
(et ATFS o9 = 108). [BUET’10-11]
() 0.108 g (b)0.430 ¢ (c) 0.403 g (d) 0.540 g

L reve W Mit _ 108X0.2X30x60

Solution: (¢); W = F —  1xoecos = 0403 g

23.  FAFIRPCRE QFITCH 51 BT 2.5 ampere *If&9 TG SO BTl FAET SV SIS BT 600 mL H, 557
TR FA? [KUET’10-11]
(a) 30.46 min (b) 32.46 min (c) 34.46 min (d) 36.46 min (e) 38.46 min

JAY: (c); it = nFe = 2.5 X t = Ezjgu X 2 X 96500 - t = 34.46 min

24.  If6 O SITH W M 0.001 sec 6 0.001 mA SR 5ol 4T Fob 20T &R E?  [RUET’10-11]

(@) 6.24 x 10° (b) 3.52 x 108 (c) 2.56 x 101° (d) 4.6 x 10° (e) 9.5 x 10°
. . Q. 1w A _ . _ 0001 e
A (a); ~n = e 6.25 X 1{]9, Q=it= 1000 X 0.001 =10"1°C
25. 5.0 amp ©fEs 60 min 4T3 CuSO, TN T4 M Sl FA0eT < AfR= o017 &t 212 [CUET’10-11]
(a) 0.987 g (b) 5922 g (c)59.22¢ (d) None of these
. (tve w7 . MIE _ 63.5X5X60X60 _
AT (b); W = ey 5922¢g

26. CaCl, 99 B9tet 25.0 mA SfG. 60 sec 474 &91[2® T4 <=1 Fo Ca FATANY SRS ST Z(A? [CUET’10-11]
(a) 4.68 x 1018 (b) 9.36 x 101° (c) 9.36 x 1036 (d) None of these

Cpenatar _MIL W It 25x1073x60 _ -6
YA (a; W=—F " n=g=—=———"—=7.772 x 107 mol

S AT =7.772 X 107° X 6.023 X 1023 = 4.68 x 1018

27.  FreTerm AIRWE W9 ST Ga0eE T04T 0.2A Rye 30 mm A 43 B e AR Frere ot 29?

(a) 12 gm (b) 5.92 gm (c) 8 gm (d) 9 gm [TUT'10-11)

.. s tar _ 635 _
Selution: (b); W = ———x 10 x 30 X 60 = 5.92 gm

28,

The density of Cu is 94 g/cm?®. The quantity of electricity needed to plate an area 10 X 10 cm? to a thickness of
10~2 em using CuSO, solution is-

(a) 13586 C (b) 272924 C (c) 40758 C (d) 20348 C
Solution: (b); W=2Q = pV=Z x Q = 8.94 x (10 x 10) x (1072) = —235

2X96500
ELN /) - /)

[IUT'08-09]

XQ=Q=27171.97C
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ertten
29. W H,S0,q =Y HA0R WY FTw Pt SfYeaias o <6 SfGe ey g 1 951 [igge aam:z
STP-CS 300 mL H, (g) %ﬁﬂﬁ | fAgeerites ﬂ@ﬂq A 91 [ 0-21]
It PV _ PV eF _ 1x———x2x9550n — ‘
FTRINI: n =eF " RT EF = =% RTt =1= UDHZIHZ?EHEEDU 0.72 A (&) -
30. fRoe ol Iea At @3 Ty 250 mL of 0.35 M CuS0, T3¢ 871 s @Y 50 0 2 20 T [IRET
% CuS0, HIC TNl T© FA? [BUET'19-20]
N
)
Bulb
Znrod €— 5 Cu rod
E“Mn2+=l}.TEV S
ZnSO CuS0,
Solution | Eocwo*=—034V | oopion
v :
FG: V= E° = EZ 7025 +ECU=+,CU =076+034=11V;V=IR=>I=_=A
s,V—L  p3sx0. 25 _S8X20I600
2 AR Tdl = S, = — E — 2206500 = (.31717 M

CuS0, HIF T @ S |
3. GUTSHIN O3 ITEEHR ARIERT S9 IS0 23 932 40 1 NaCl @32 CaCl, 9F TI09T 947 e s+ “Afer

7, B 91 T AT FINRAIT 2.3 gm GHfEATy o 20 $© 1N SRR St 23? 9 2AfeFmm Fiosifad
%WWW [RUET'19-20]
A W = ZQ'— Q [M™ + ne™ - M]

nx96500

W M n 40 1 20
. Ca _ Ch o —Na _ x_=;.wm=—>::23=2gm

" Wna Mpa  nga 23

ﬁ‘i_]’% Eﬁﬂ[ww Q _ wHaKI;:]:IKQEEUU 2. EKI::ESDU = 9650 C

32, FOICAA COf SRS ©9F 0.1 mm 2 GTIAIR &tee! s 0. 5Aﬁg&ﬂﬁ¢“m TR BT TS T

CIIE TG = 19 X 10° kgm ™3 93 TLHTA SZHRA = 20 cm?, GTIAIE SfSR ATH{NT Tge
= 6.38 x 107 kgC™? |

AAY: AN AN STS, V=20%x10"*%x 01X 103 =2 x 10-7 m3
AR AT ST, w=pV=19x10°x2x 10" kg =3.8 X 103 kg

s 3.8x1073k
2 BT &, Q = —————E= = It = 595611 = t = 2222 = 11912235 = 3.31 hr

6.38x10"7kgC~1

33. 200 cm? CRAPEE 20ee REE G 4Ieq ST T 0.2 mm TGS M AT (AT QTS | T TG
1.05 x 10* kg/m? mﬁusaﬁ@a IR PN Y O TF =19 rs qroq oot sowt SEmEEhe

BIIC AMTS A? [Ag = 107.86 g/mole] [BUET'18-19]
WHF{ W =Vp = Adp = 200X 107* x 0.2 x 1073 X 1.05 x 10* = 0.042 kg

_ A~ _ E WeF _ 42X1x96500 _
=42gQ=nefF =lt=—=eF ~t= M — 1z5xi0786 — 3006.119s (Ans.)

34. 200mLO0O.SM Cuz”?FIII‘lIT'EEZ‘i 2 amp ©fGe 30 min GBS T A0 @l S FA? [Cu = 63.5]

_ _ 2X30x60 _
AAYH: Q = neF; n -:ﬁ— >woccos — 0-019 mole [BUTEX'18-19]

Fde [fEa: Cu?t + 2e~ - Cu

©fge fRTuEe Tee Tt qia #/fFRfSS 2ra; 93 aiie 1Rt 200 x 103 X 0.5 = 0.1 mole
#faaf$® GTeT 7T = (0.1 — 0.019) = 0.081 mole

-, ST T = — = 0.405 M (Ans.)

200x10~2
2X%30X60

Rrgent TTT: ©f%e RTHETe 7 Tawe S, S, _S‘v'_ 20 2xest0 — 0,4067 M

R | - / /&

[RUET'19-20]
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35.  Au S{SRUER T4 M AuCl; SRR Bt Seiffesay ofte, otz ot 2671 10.0 6 o[ FiTes ©F

1.314 gm 3@ CVITT %R S1]1es WF 1w 91 (Au 93 iR o7 = 197) [BUET'17-18]
WY RIS R Audt + 3e- ——— Au

RIFT REE ERIT ey, =3 . QIERRATI Ny, = E-H mole
WSF® FT t = 10 min = 10 X 60 sec , Eﬁﬁﬁﬂ‘l’i=l
w9 S, It = npyep, F =lxwxsn_‘—"ﬁxsx%sou:l_322A(Ans)

36.  CuSO, TR T 160 mA AR 40 min TR BT 1 2271 SRETIE AR FoiE “IRIga 241 e 1
AR 1 = 160 mA = 0.16 A, t = 40 min = 2400 s [CUET’08-09, RUET'15-16]

AW =ZIt = ———x 0,16 X 2400 = 0.1263 g

2X96500
W N 0.1263x6.022x1023
i N = < = 1.1978 x 10?1 (Ans.)
37. G0 GG A 20 ton SR 4y Besiva z0 1 3 tafe 7 30000 sec FEFTT Jq ©F
4TS tTime F© FEAICS 78 8 T8 Amp Rigye *Ifees eftamem 237 [1 ton = 1000 kg] [CUET13-14]

FAE: W = 20 ton = 2 X 107gm, t = 30000 sec

P A 5 el dstar e Tty o W 2307 v p
L= 55oes00 = 932X 107 gmC [, W=12Q; Q== = 2.14 X 1011C = 2.223 X 105 F

9.32x10™>
SR, Q=12 1=3=22240_ _ 7351064 [Ans. 2.223 X 106F,7.13 x 10° A]

38.  &aE CuS0, B3t Wy facw 0.40 A Rye. @@ w¥51 vfert fAfF 5 4ta i<ifEe <aeT 0.80 gm F71R &I =4 |
TR SIeR IS T Fefa <+ [BUET’11-12, 01-02]
T W = _W_ 0.8 _ —4

-W=Zlt=17= It  0.4%(1X60+40)X60 3.33 x 107" gm/C
39. Kl %3923 10 9 SIS (12)1 (9F) TO1F & TS T© WIEAR [ge AmEe [BUTEX’11-12]
v _ M _ 254 L3, =
A 217 - Iz +2e7;Z= E ————=1316Xx10">gc™*
- — —_—— = 10 — — =
AW=Zltn == e [t=3600s5,W=10g] = 2.11 amp
40. ETeF AT 1 IO ANY 8.0 S e 212 Fa0e Sfeerita i 2ifamid 94 (Cu) TN ATE?
(FATER AFAHRE S = 63.5 93L& — Cu*?) [BUTEX’10-11]
AAER: A SR, =8A,t=1hr=3600sec, M = 63.5,e =2
pr— M —
W= e X [xXt=9.48 gm (Ans.)

41. 99 AEfFeEe affiten Tt AbAM Sfteaad AR T° ToF [ge o-ifEe T wim Swst @ bitsy

TfTeRTa 500 cm® QETGITEH B2 ZA? [BUTEX’09-10]
500
TR n = =t — 2 _ ) = 4305.47 C

eF 0.0821%273 2%96500

42.  FR AETCEs QA0 TC4F 15 min A 4T 5 IR TidE ofSe QiR Slem 90T IS ) Sifamye
T G Z3? [BUTEX’08-09]
A4

63.5%5x15%60
W - z]t — 63.5

2%96500 1.48 g Cu (Ans) | L= 2%06500’ I=5A; t=15x60sec

B, IR AT T 0.0422 A 7R 1 hr 7R 2RIFS T TE TATS 00275 g FIRAN 5 =0
GFITRTAIS ST BTet 9997 (Cr = 52.0) [RUET’07-08, KUET’04-05]

X Mit Mlt 52X0.0422X3600
YA W =ZIt = — =N = So27esocsos — 2976 = 3 (Ans.)

W ) -




/ % / ” S [T *A: THA-08
44,

SeRrSRT qPiTee @Y S BaTeR wuy e 2w s e 195 Rgge @i|ifEe w=im st stopmg; o
BT 250mL RIATGITS T By 27 | Ry Il T f=e? [RUET06-07)
FAY: Q = neF = 1 = (2= x 2 X 96500) + 3600 = 0.598 A

45. (I ofbe @Iy e Sreemites w4y e 0.2 A fimye 211z 50 G TR BIEICR T FICAITES 0.1978 sy
TR VRS W) Feileaa ofbe A e A <= [BUTEX’06-07)
MY 1=0.2A t=50min=50x60s; W, = 0.1978g; W="ZIt

Z="=_217 _ 3297x10~*gC?
It 0.2xX50%60

46. CaCl,-93 ¥4 25.10 mA fR 5 {5 473 2l 41 2o Fofb TP AKwY TAPGICS ST J(A?

N
FAYE: Q = 25.10 X 1073 X 5 X 60 = 7.53 coulomb; ¥4¥¥, Q = neF = EEF [KUET’05-06]
_ 6.022x10%3x7.53 - 19
N==——_—— = 2.3495 X 10"° &' (Ans.)
47.  CaCl, 93 Bt 50.0 mA Of¥e T TCH 404 SRS FACT 4.6 x 1018 O FIEHAN ATAY LTSRS T Q7
A SR &1, Q = neF = It = -E—eF [x = A1 HA] [RUET'05-06, CUET’03-04]
A
£ 4.6%10*%x2x96500 —29.48 s

T 6.023x1023x50%10-3

48. G0 SN ©ItE W45 fTH 0.001 GTLFS 4id 0.001 ffeT S Sfee bt Tt Fon S0 A EI Y,
FRAI: Cu = Cu?t + Ze, Q =1It = (0.001 x 102 x 0.001)C = 10~° C [RUET’04-05]
[=0C001x1073 A;t=0.001sec

23 -3
. RCTREA eRIRe T = X - 80290 X407 _ po4 x 109 B (Ans.)

96500 96500
49. =g NaCl B9ea Ofes freres i Afiwr R o)tz w0 1 9951 @ Pt — WS 27 5is ¢ St
0.112 L H, ©&7q ZI? [BUET?03-04]
AAHE: STP ¢,

0.112LH, 93 %8 = —21% = 001008 g

22.4

1.008
96500

50. AgNO; B3t I47 Mo 10 fI¥E 0.25 Smifemig I e 21E e w4y s 0.1679 gm Ag &l

A1 714 96 AgNO, Tatet 50 5 0.20 e R RIgye &1 Sierat 40 F70es o AfS Ag
S FJ? [RUET?03-04] |

W=7ZIt=

X 1x 3600 =001008g= [ = 0536 A

AR Wy = Z1t,; W, = ZI W2 _ Ltz — 50X60%.2 _
' T £ 22 = W, I1ity = Wz 0.1679 x 10X60%.25 0.6716 & (AIIS)

51. mﬁmWWWWWG@QWNi(NDE)EWWﬁW}m 5.0 amp Rys 30 |
G 4T STeTel <ot 227 1| TR G659 oot crae 7.0 cm? ) (FTIRIE BINCER ©#17 1 Aiweitq 78 e '
SETCT LR 1T A1 [Ni — 7 e 9 = 58.7 e et Swewem sis i WG = 1.4] [BUET’02-03]

MIt  587Xx5x30x60
W=—s = .
ATl = >xoes00 B = 2.74 gm

WA, W= Axtxp [t = og] = t = W o —* = 0.28 cm (1) (Ans.)

-E / 8qbr /
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Question Type-04: Tfee apmafrs @y

2 Concept:

- OfSe AT (I AT =i Sfoe, s
. i : . wRfhe 27|

(i) ¥TQ-4TO ST SECHTE: M/M™ swes| fewser <t 21 R M(s) » M"*(aq) + ne~

. TRTRAY- Zn(s) - Zn?*(aq) + 2e” |
(it) 4128 T SUITH =79 SFPra: Hg (1), He, Cly(s) | KCl(aq): faf&at- 2 Hg,Cl,(s) + e~ = Hg(l) + Cl™(aq)
(iii) SRR wrdeere: Pt, Fe?*(aq)/Fe3* (aq) Rie- E‘e“ (aq) = Fe3*(aq) + e~
(iv) o S€THE: Pt, H, (g) (1 atm) | H* (aq) (1M) ﬁﬁj‘ﬂ‘{-%l—lz (g) = HY(aq) + e~
(v) I SUTETR @ {IQa S SE: Na — Hg(s)/Nat (aq) Rt Na — Hg(s) = Na*(aq) + e~ + Hg(l)

> TR CTRUS RS e f{Ter: NH,NO,, KCl, KNO, Na, S0,
MCQ

01. CTIRIE WiKo! 2o 9o [Ans: d] [BUET?12-13]
G RIERREITRY] O) RErd afiFm (o) afegm Ritear ~ (d) wiea-Read [ |

02. HTBR NG Sfee @ itew 719 Gigres TRz T [Ans: d] [BUET*11-12]
(@) NH4NOj, (b) KCI (c) KNO, (d) All of these
03. fRCIE ofee arimfaS FrEeTyrza witaTy i ¢ swid ey fafdF orare: [BUET’14-15]

(2) Zn | Zn**(aq) | CI~(aq) | Hg,Cl,(s) | Hg

(b) Pb | PbSO,(s), H,S0,(aq) | PbO, ,Pb

AY:

(a) Zn |Zn**(aq) | CI”(aq) | Hg,Cl; | Hg
Tk 94 [&E T Zn(s) = Zn?*(aq) + 2e~ [&R4]
fenad w4 f[{feFat: 2Het (aq) + 2e~ — 2Hg [[RSR4]
AT g f[qferar: Zn(s) + 2Hg* (aq) — Zn?*(aq) + 2Hg

(b) Pb | PbSO, , H,S0,(aq) | PbO,, Pb
TS ST : Pb(s) + H,S04(aq) — PbS0,4(aq) + 2H' + 2e~
e S4GIS: PbO, + 2H* + 2e~ + H,50,(ag) - PbSO, + 2H,0
sisfete fRf&T: Pb + PbO, + 2H,50, — 2PbS0O, + 2H,0

Question Type-05: Sfbea o3, ¥ o7, (4012 15 *ife @ 18 ferad 7=

® Concept:
Ecell — Eénude(nx} + Er:athude(red) U0,
= Eanode(ox) — Ecathode(ox) Eanode(ox) = A S [

= —Eanode(red) T Ecathode(red) Ecathode(ox) = Fires w9 feg
Eanode(red) = DICICES Rerad =3
E-:athnde(red] = FICAITEd ELAERRGER
> & *f&a oif§T9q AG = —eFE ¢

> AG < 0%, Epep > 0 TOTEo R

> AG> 0T, Egq < 0 TFOTES Raral

» AG = 0%, E.op = 0— F5I<E (The cell is dead)

i, / -~ /




T ) C
'

01. fAees @MW TFH FBF? [CKRUET'21-22]
o [Product] LA
(@) Kc = Kp (RT)*" (b) Ecen = E°en + RT In [Reactant] (c) E=h. :
o [Reactant]
(d) pH - pOH — pKW (ﬁ) EEE” = E cell + RT Iﬂ [Fl‘ﬁdlll:t]
AL (No Answer.); A — {53 F9f Kp = Kc(RT)2"
[Reactant]

. RT
B,E - ﬂﬁﬁ?ﬁﬂ Ecenl = E°cell + Eln [Product]

C - AT 9 E=IE

D - AT el pH + pOH = pK,,
02. IO AN Sfeewr [Req T=- [KUET'18-19]
K*|K=—2.93V;Ag*| Ag = 0.80 V; Hg?* | Hg = 0.79 V; Mg?*| Mg = —2.37 V; Cr3* | Cr = —0.74 V
BT TG 2ME (IPTIRLS R o Shary St Sems |
(a) K* | K< Mg#* | Mg < Cr¥* | Cr < Hg?* | Hg < Ag™ | Ag
(b) Ag™ | Ag < Hg?* | Hg < Cr3* | Cr < K* | K < Mg?t | Mg
(c)Ag<Hg<Cr<Mg<K
(d K<Mg<Cr<Hg<Ag
(e) K™ | K < Ag™ | Ag < Mg?* | Mg < Hg?* | Hg < Cr3* | Cr
AAIYA: (c); Ag<Hg< Cr< Mg <K
03. Egycuer =—034VERRED cov =044VTH - [KUET'17-18]
(i) SR 2Ttd FeSO, et It T3 |
(1) ©[FIF ATq FeS0, &I It T A |
(iii) T #I1t@ CuS0, @< 7 i |
(iv) CGTIR @ CuS0, et AR T

(a) i, i (b) i, ii (c) i, iv (d) i, i (e) ii, iv
TAR: (€); Efen = EQ 4 rcu F Epe /pezt = 034V +0.44V =078V > 0V .. I§: Fe/Fe?* | [Cu?+ /Cu
04. 2.0 M AgNO; 93 B3¢ OT7e <A1t &t At =11 057 i B s [KUET’13-14]
[E° for Ag* /Ag = 0.80 V and E° for Sn**/Sn = —0.14 V]
(@) E®ep = —0.94V (b) E®cepy = +0.94 V (€) E%ey = 0.66 V

(d) 2.0 M AgNO; B< o7 it 914 =g (e) 2.0 M AgNO; &R == <{itd 9141 s1eq =t
FAIYH: Option (b) €32 (e) Tox3 Aiye |
gell = ;ﬂfﬂflz"' + EEEH““*H = 0.14 4+ 0.80 = 094V > 0; 899 TG =T ART 1 |
05. MgSD4 H:T ‘ﬂﬁ ?F’TTCZFI ""'H'CE'I W ?ﬂ"ﬂ 1{5“ [Enﬂuz"';'{‘.‘.u —_— D.34V "ﬂ?ﬁ.. EEMEE+fMg = '—2.3 V] I ‘ﬂw

ftea @ f==elfs srep [KUET?11-12]
(a) T F7 Al (I (b) WA T oforg
OEMIERIE R (d) Mg?* i =1 (e) Mg?* Renifis za =1

FAIUA: (€); E°cen = (E°pmgz+ mg + E%, /cut) = (=23 -034)V=—264V

) | - /|
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06. fAtea maﬁ?a 1Y et o w3 o9 s g =1 | [BUTEX'21-22]
Cell: Zn/Zn** || Ag*/Ag

Ezn/znz+ = +0.76V; ES Ag/Agt = —0.80V
T SOICHITS: Zn = Zn?t 4 2e- BIERESEIEI T
TS : 2Ag* + 2e~ - 2Ag [Rewiae wdffesa)
A Rf@Fa :Zn+ 24g* - Zn2+ + 2Ag
* Egen = Egnjzn2+ + Egge/ag = 0.76 + 0.8 = +1.56v
07. Pt(H;,1atm) | HCI(sol") | CuSO,(sol") | Cu RICH E° 7 W 0.337V T AG 2+ 5 97 NI (37 T4
TRYE: E® = Bf e +EQy2+ /g, = 0.337 = 0+ EQzu [KUET'19-20]
= EQy2+ ¢y = 0337V = EQ 2+ = —0.337V

Cu(s) — 2e™ = Cu**(aq), E¢ ¢ 2+ = —0.337V
i AGReyz+ oy = —NF By cuz+ = —2 X 96500 X (—0.337) = 65.041 kJ mol~ (Ans.)
08. T& FIiRe Fvifice e e R o Roge Sesm =) [BUET'18-19]
Zn(s) + Cl;(g) — ZnCl,(aq)
(i) e =g fferat, Retad o R[Ridw e e et 1y fse (B,,)) @91
(i) & TSR “iffTen (AG®) G+
et feae &e2: B 24 7, = —0.76 Vand By ¢, = 1.36 V
STYE: (i) Zn = Zn?t + 2e~ (@A &9 &fewa)
Cl, + 2e~ = 2C1~ (Retad wif [fdwwm)
Ecen, A9 (1 499 = E3, 702+ + EQ), - = —(—0.76) + 1.36 = 2.12V
(ii) AG® = —nF E°q; = —2 X 96500 X 2.12
= —409160 ] mol~! = —409.16 k] mol™?
09. WS S oifte Foi AR T3 AR AT 76 ARG T 1 [Eznznz+ = 0.76 V, E¢ya+jcy = 0.34 V]
AAYS: Zn + CuSO, = ZnSO, + Cu [BUTEX'18-19]
E°cent = E%n/zn2+ + E°cuz+jcu = 0.76 + 034 = 1.1V > 0 |
-, e vored, widie B¢l ARl IR 1
10.  Zn(s) | Zn?*(1 M) || Cu?* (1 M) | Cu(s) 1569 emf 1.103 V |
W[, Zn?* + 2e~ = Zn, E° = —0,763 V| @ (SIE SHITAICG [[{Rerar, Fieiee f[irar @ w{mis @ [Kieaiw
ANract ot a3 TR SEHERICed ATt Sfeeq 1 =i a1 ~ [RUET?07-08]
TtYA: Zn(s)|Zn2* (1 M) | |Cu?* (1 M)| Cu(s)
E°cell = E°(Red, Cathode) — E°(Red, anode)
1.103 = —(—=0.763) +x ~x=+0.34V
Zn — 2e”~ - Zn?%; E%y zn2+ = 0.763 V [ Sriere fafera]
5 Cu?* + 2e™ - Cu, E%¢uz+ gy = +0.34V [ FII0S fRifera]
Zn + Cu?t - Zn?* + Cu [iE fafeFa]

R | - ) R
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11.

12.

01.

02.

03.

04.

el FrEfba EMF 43k 1% e AR 37°C oromars Ay 39 . [KUET’03-04)
Ag /AgNO; (0.3 M) Il AgNO,(0.5 M) / Ag

STIYIR: (F) SATS = Ag — Ag* + - QAT E° = 219 SYE B, q¥. g%,

() FIRTC = Ag* + e"—Ag Eﬂ&g/ﬂg"’ + Edﬂg‘*}'ﬂ.g = 0 volts

Er = E© — 230RT )0 A8 Jongge T =SPNEa = 37°C = 310K

2.3[!3}:5.:545:310 [AE 3gthnde R = WW W =8.314 I mﬂlil Khl

= 0= —ssoe 19855 n = FETRACT G IR = 1

= 0.01364 volt (Ans.) | F = 96500 C

*. T&*If&7 AT, ~AGr = nFE7 o [Ag*]s = SUITAITSS Tl = 0.3 M

= AG =-1x96500x0.01364 ] = -1316.26 ] mol™1 (Ans.) [Agt]c = TS A=t = 0.5 M

e oieibe oferae 3o Fe 3@ of W] $91 Zn | Zn?* | | Ag* | Ag (Zn / Zn?* @32 Ag / Agt @3
2N {99, Y +0.76 V YR -0.80V) [CUET’03-04)
W: EI?EH = EHZn{an""" Euﬂg+!‘p‘g = +0.76 —(—U.B) = 156V (AI]S.)

‘Qucstion Type-06: TFD AqHA9

Concept: |
E:E" = EUEE]I - gln Q, W, E:E“ = @Wﬁm, Ence" = &I ﬁﬂ‘ﬁﬁﬁ, T= ﬁﬁm Ol

R = &I AT &< = 8.314 Jmol 1K ~2, e = WMITF-2MIAFS ZTTRGLE e, Q = FRfeeat &<
F = FJ4Ie4 &% = 96500 Cmol ™

MCQ

Consider a cell consisting of Zn(s) l Zn“*(1.00 x 1075 M) HAg* (0.10 M) | Ag(s) and standard
reduction potentials of the cell are EZn(redy = —0.76 V and Eag(red) = 0.80 V at 25°C. For this cell the
following parameters age given, [Ans: d][TUT’21-22]
(1). The cell reaction is Zn(s) + 2 Ag*(aq) — Zn?*(aq) + 2 Ag(s).

(ii). Ece = 1.647 V. (i11). AG® = —3.178 x 109].

Which of the following is more appropriate?

(a) (i) and (ii) (b) (ii) and (iii) (c) (i) and (iii) (d) (i), (ii) and (iii)

fries femfo stiteTe1e Gt emf @9 ¥ @ E,, B, E, [KUET'18-19]

(i) Zn | Zn** (1 M) |] Cu?*(0.1 M) | Cu (ii) Zn | Zn?* (1 M) || Cu?+(1 M) | Cu
(iii) Zn | Zn?* (0.1 M) || Cu?*(1 M) | Cu

Sz Feee @AM i

@E>E;>E;  ME;>E>E  (OE,>E;>E,  (d)E >E, > E, (€) E, > E, > E,
24

TR (b); Es > Bz > Ex; Ecen = Efey — 1 25 L

cell ™ Tp
25°C SI*E@A H, + Cl, + 2 H,0 = 2 H,0* + 2 CI- Riferara AL, K = 1046 | 25°C Siomiary
Pt, H, | HCI (aq) | Cl,, Pt (itaq E° fRoiq 99 [KUET'17-18]
(@) 1.0V (b) 1.357 V (c) 2.2V (d) 0.000V () 2.4V
AT (0); TGN Ecen = 0; Ecey = 2 InK = 332290, 046 _ 4 357y
Zn** | Zn(—=0.76 V) 93 Fe?* | Fe(—0.41 V) Sfoeqimy i o5e NITSINE @I emf F@- [KUET'16-17]
(a) —1.17V (b) -0.35V (c) +0.35V (d) +1.17V (e) +1.12V

ANYIA: (c); Zn/Zn** | Fe?* /Fe ; E%) = 0.76 — 0.41 = +0.35 V




VA W E—————————

05. 25°C SN ANE @I SewEs 369 $97 [KUET?15-16]
Zn|Zn**(0.1M) || Ag*(1M) | Ag  [EZ,pp2+ = 0.76 V @REQ .+ = ~0.80 V]
(a) 1.2895V (b) 1. 3895 vV (c) 1.6895 V (d) 1.4895V (e) 1.5895V

¢ (o) _ [Zn2%] 8.314%298, 0.1
ERIRICH (E)! Et‘:ell — Egell l [Agt)? (Egannz"' = Eggfﬁg"') - 2%96500 In '1— = 1.5895V

06. fA53 FIIBIE.M.FFo? [CUET’15-16]
Zn | Zn®*(0.001 M) || Ag*(0.1 M) | Ag [EZ,;, = 1.56 V]
(a) 1.59 V (b) 1.46 V (c)1.61V (d)1.10V

. RT, [Agt]? 8.314x298, (0.1)2 _
T (2); Ecen = Ecey + —1n znzt] = 1:56 + ————In=- = 1.59 volt

07. 30°C ‘T‘Pﬁflﬁﬂﬁ@@ammﬁaf (FITIS ©fe BlEE 761 97 [KUET’14-15]
Pb | Pb?*(1.0M) || H* (0.4 M) | H;(1 atm) | Pt; [(WSTI 9IITR Eph1+ﬂ:h = —0.14V]
(a) 0.1165V (b) 0.1170 V (c)0.1155V (d) 0.1161 V (€)0.1175V

Fh2+ :
AR (d); Ecen = Edeyy — = In- [ H+]]':“= (+.14+0) = =22 o | 22 = 0.1161 V

08. 25°C SriN@a fAes ofde mam E.M.F fadfg =91 [RUET’14-15]
Ag | AgN03(0.08 M) || AgN0O,(0.001 M) | Ag
(2) 0.10115 V (b) 0. 11025 \Y (c) 0.1125V (d) 0.1250V (¢) None

[Ag*] (anode) __ B314x298, 008 _
T (€); Ecen = Ecan — ln [Ag*] (cathode) 0 = oes00 Pogor — —0-1125V

09. 42°CSIiEiTs Sn | SnClz(U.TD M) S (F1a64 {459 (emf) @HG FR? [ E%,, 5,4+ = 0.14 volt]
(a) 0.1352volt  (b) 0.1399 volt (c) 0.1450 volt (d) 0.1448 volt (€) 0.1496 volt
T (d); E = Egpysnz+ — o In[Sn?*] [ordcara REFar sn — 2e~ - Sn2+] [KUET’12-13]
= 0.14 —=—=21In(0.70) = 0.1448 volt

X96500

10. 37°CSIATAITS Zn | ZnCl, (0.25 M) SF1Eoa ¢ 59 (emf) T© 23? [E°zn|zn2+ = 0.758 volts].
(2) 0.7402 volts (b) 0.7305 volts (c) 1.3862 volts (d)0.7765 volts (e) 0.7757 volts

TA: (d); E = E — 5 In[ Zn?*] = 0.758 — — == xIn(0.25) = 0.7765 V [KUET’11-12]
11.  25°C SAqEd [eed (@1eioe Sfbesles I To? [CUET’11-12]

Fe/FeS0,(0.1M) | | CuS0,(0.01 M)/Cu. [(&T MZ: E%p¢ g2+ = 0.44 V; EO¢y 2+ = —0.34 V]

(a) 0.78V (b) 0.10V (c) -0.10V (d) None of these

STAIYI: (d): Fe/Fe2* | |Cu?*/Cu
FCE" = EuFEfFEII" + Encu2+zcu = (0.44‘ + 0.34') =0 78 \

_ [Fe?*] _ _8.314x298, (0.1 _
Ecen = E®cen —_1 [Cuzt] 0.78 — = xo6s00 11 nn1) 0.7504 v
12. A half cell has following data: E° for Zn = 0.758: Zn/ZnCl, = (0.09 M). The emf of the half cell at 55°C is-
(a) 1.0792 V (b) 0.792 V (c)17.92V (d20V [IUT'11-12]
Solution: (b); Ecen = E%een — = In [Zn**] = 0.758 — 2225529 o 11y 99) = 0 792 v
13. 25°C @ Fe/Fe?*(0.3 M) || Sn?*(0.1 M)/Sn (IITT4 SfGS5#1%F I (e m. ) @152 [RUET’10-11]
(a) 0.525V (b) 0.1285V (c) 0.2859V (d) 0.2755V (€) None
RT, [Fe2*] B.314%298
ATIYIS: (c); Ecen = Er:ell I [Sn2+]’ ; Ecen = 0.44 —0.14 — 2%96500 ln_' = 0.2859V
14, What is the e.m.f of the fnllnwmg half-cell at 47°C? [E° for Fe = 0.036 V]: FEIF eCl3(0.25 M) [IUT'10-11]
(2) 0.0478 V (b) 0.0487 V (c)0.0742'V (d)0.4781V

B.314
Solution: (b); Ecap = E°ceq — -—-ln[r-'e3+] = 0.036 — H:j:::;“}l n[Fe3*] = 0.0487 V

Y | - ) T
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Wntten

15.

16.

17.

18.

19.

T ) . )

ﬁmﬁw 298 K SI@y Torgs 1 ©f [ da 39 [BUET'16-17]
Co(s) + Fe?*(aq) = Co?*(aq) + Fe(s) |
[(AAISITR, [Co?*] = 0.15M; [Fe?*] = 0.68 M; ECGH 1co = —0.28V; Efas g, = —0.44V]

ATYN: Ecop = Ecell = 3:::,RTng FF:‘::} Ece]l = Ecun cozt T EFF.':2+ Fe
= (0.28 - 0.44) V= —0.16 V
= —0.16 — 2.303%X8.314x298 IDEE — 014V
2X96500 0.68
% Eeen <0 -~ Ri7 vo7gs 731
(a) 298K Sy feferie Frabe ofte vee 34 1 59- [RUET?09-10)

Pt | Sn*(0.1 M), Sn**(0.01 M)||Fe3*(0.2 M) | Fe
@SR IR, E°(Sn?t, Sn*t) = —0.15 volt ez E°(Fe3*, Fe) = 0.036 volt

Solution: So, E = E, — Tln [Sn*+}? Anode:  3Sn?* — 6e~ — 3Sn**
[Fe3*)%[Sn2t]® 3+ -
Cathode: 2Fe”™ + 6e~ — 2Fe
_ 8.316x%298 (0.01)°

(b) TNl (Y F?

A 9 i, RTwars 7t fo veia wae 329 I @ (11 4% 41 T ©Ites TAN1a iy 07 |
TR TG F? D (T TN TR T 0o TR (I0aa ©fS 5o 97 (emf) il 0911

Mg(s) | Mg?*(0.001 M) || Cu?*(0.0001 M) | Cu(s) [RUET’08-09]
Here, E°vg2+ /Mg = —2.37 V and E°y2+ ¢, = 0.34 V

STAII: <1 CTgs 0 SIGSTF FCL AT ALAM AT & 595 U SIFHos 15w 71 KCl, KNO,

NH,NO, tﬂ?ﬂ’ﬁ"’i@m‘fm ﬂﬁmmw CTg |

& RT 3
Ecen = E cell — Eln m]

8.316X298 0.001

= (E°mg/mg2* — E°Cujcut) =~ g 1N 99 = [2.37 = (—0.34)] — 2% 1n(10) = 2.68 V (Ans))

More A Rieam cf e @aEiba 51 39 (emf) Bk 31 [RUET’06-07]
Zn/Zn**(aq)||Cu? + (aq)/Cu [Zn%*] = 0.1 M; [Cu?*] = 0.05 M; E°zn/znz+ = 0.76 V; E°cy cuz+ = —0.34V

A Zn(s) + Cu**(aq)— Zn?*(aq) + Cu(s)
CICH W"T, Ecenn = E°cenl — ﬂl ailabhl ik

e ST T
s A Z E+]
= Ezo/an++E cutt/cu — ooz = (034 +0.76) + e In = = 1,091 Volt (Ans.)
frane sPifFe Rieran e ot v 39 (emf) Rda 5791 [RUET’05-06]

Mg(s) + 2 Ag* (ag)>Mg?* + (aq) + 2 Ag (s)

[Mg?*] =0.13 Mand [Ag*] = 1.0 x 10™ M

at 25°C, E"pgt/ag = 0.80V & E%yp2+ g = —2.37V
TG ©fGeq [igame Mg + 2 Ag* — Mg2* + 2 Ag
E°cent = E°mg/Mg2 — Eoag/agt = 2.37 — (—0.8) = 3.17 V

E . —E° RTl Mg**] _ _ 8316x298, _ 013
cell = & cell [Agt]z 3.1 2%96500 | N ix10-2

=317-021=296V
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20 25°COIRIAN FU5% GPRDS e.m.f ey s Fe/Fes0, (0.1 M) | CuS04(.01 M)/Cu. [CUET>05-06]

21.

23,

(mmm. E° (FE;"FEE"') = < 044 V; E° (C'I.'Ifﬂ'l.lz"':l == —0-34 10

FTHII: R Fe/Fe?* fbeqafs witars was cyz+ /Cu SfEearafe Fredte R 16 I
* EVpe/pert = 044V E® g cuae e, = —(~0.34) = 034V - E°cen = 0.44 + 0.34 = 0.78

=E° ., — RT)  [Gesm) B.316%298 .
Ecen = E®cey) —In ] 0.78 — >x96c00" 1 %II= 0.75 volt (Ans.)
freraie crfba EMLF. 31°C Stomiaime fidy 39 [KUET'04-05, CUET’04-05]

[CTSATIMTR, E°g /5n2+ = 0.14 Volts & E°Fe/re2+ = 0.036 Volts; Sn/Sn?*(0.1 M) || Fe?*(0.3 M)/Fe]

STAIHI: E%cenn = (0.140 - 0.036)Volts = 0.104 Volts

_ 2.303X8,316x304 .
Ecen = E°cep + 2::955{]: lnggl—:- = 0.1184 Volts (Ans.)

25°C oiaig fRaye (PIIETEIR SIORBIF 997 S5t 59| Fe, Cu 92 Sn — 9 E° @3 I« JYIFCH 0.44,-0.337 3
0.14 VI Cu**, Sn?* Q92 Fe2* 7 YowTar qiercs 0.3 M, 0.1M, 0.3M [RUET’03-04]
(a) Fe/Fe**[|Cu®* /Cu  (b) Sn/Sn2+ | | Fe?* /Fe

+
FAN: (a) E = Epepez+ + Egye+ scu = 0,44 + (0.337) = 0.777 Volt [ln [Fe. } =Inl= u]

[Cust

— o _ RT, [Sn?*] _ 8.314x298, 0.1 _
(b)E=E — In ke 0.14 — 0.44 — T In i 0.286 Volt .‘
5 mM Fe?* gfT® q3f6 ot Ce*+ fira BIZEE0 1 =) BIRCGHTE o it 1 mM Fe3+ ¢ 2771 25°C
W’Gﬂl ‘Eﬁ’f C'?Fl‘ﬂfﬁﬁ EMF (EFEE"'/FEE"') W'ﬁq | Wm Egﬂnfpen = (0.770V [BUET’02~03]
0.0591 Fe3+] 0.0591 1
TAL: Epez+ fpes+ = ECcon — 222 log EFEH] = 0.77 =2 log () = 0.80558 V (Ans.)

[1 mM Fe3* (Sfd 26717 [Fe?*] = (5 — 1) mM = 4 mM]

Question Type-07: (I ©fSLala, 1 * @3 i@l {7 @32 pH

Concept:

> RS [oris ofteaE:

H — ofe gig 93, I, T = 25°C @ PH2 = latm T,
' _ __B8.316x298 [Ht]
%Hz/ H+| Eam+ = ses00  ~ 2303 log PR
RT . [HY] = —0.05921og[H*]
EHI!‘HJ— —_— '—'? ]ﬂ 1 ' s
[Pu, J? * Ecell = 0.0592 X (— log[H*])
Ecenn = 0.0592 pH

) v )
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o FICANHE OfOREE: FioH NafFearT @HRTTF (Hg,Cly) I - FIITITHE |

LT

T
FTECE SioeRt fMeve it saive &)
ST 2Esare: He, He,Cl,(s)/ Cl-

e e [feFa: 2Hg(D) + 2C1- (ag) = Hg,Cly (s) + 2e” S
TS B RJiEa He,Cl, (s) 4+ 2e= = 2Hg (1) + 2C17(aq) -

Hg. TRR%T™ orte

PR (Hg,Cl,) 97 Co1%
el ST Sfoatd
MCQ .
0l. 27°CSiiNEn a3 Sfb<Ea 0.02 M HCl ¥ ¥3% 592 <l 2eeT! | Sfbsaaia wiad o sieial 34|

(a) 0.1773 V (b) 0.0591V (c) 0.78 V (d) 0.052V () 0.1V

[KUET’10-11]

Crave @ _ B8314x300 =
TAA: (e); E=—————In0.02=0.1V

-
e Gt e Rdfa 31

02. 27°C SpFiuiaE g SfoeaiE 0.02 mol dm3HCl &3 TR 2T T4 27 | SfCeRiHins
TY: T R SH, —e” > HY By =0V n=1T = 300K [BUET’12-13]
Eeen = E°ceny —-—-1n[H+] =0—=—"="1n[0.02] = 0.1011V

03. ﬁmﬁﬁ—ﬂmwﬁ?ﬂsﬁw Yioq T —eieeqasia Frared JRwr gt 9 g3 wdcey [fsem o

(2) TGS ST [CUET'04-05, KUET?04-05]
FNYE: HY /H,, Pt 2H*(aq) + 2 e = Hy(g)

(b) G *UieE 4=

JAY: Cl-/Cl,, Pt Cl,(g) + 2e” = 2C17(aq)

(c) FNTATT SfGeard

FHi4i: Hg, Heg,Cl,(s) / CI™ 2 Hg() + 2 ClI~(aq) = Hg,Cl, + 2 e~

Question Type-08: {4

MCQ
01. I (I ZLTAGLAR IS (D AR &3+l 31 I [Ans: c] [BUTEX13-14]
(@) TR (b) 9F Fo7 () O TS (d) 9 Coles
02. faer arETaEE JITe @F? [Ans: ¢][RUET’12-13]
(2) Fe,04 (b) 2Fe;03. 3H,0  (c) Fe;0;. 2H;0  (d) 2Fe;03. H,0  (e) None
03. OB ZCTRGLAR OIS T ~-mmeem e I [BUTEX’05-06]

A -1.6 x 1077 C
04. FFTEAS TRIC AR (s (@, Kmaawwimwﬁamwﬁwmw| [KUET*03-04]

Fi4: 6KCN + Fe(OH)3 — [K3[Fe(CN)¢] + 3 KOH

CRESAT: 6XM
TP 1 O = g o = —=2M [M =KCN 97 93 =




